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SEVENTH SEMESTER
MECHANICAL ENGINEERING
ME 1403 — COMPUTER INTEGRATED MANUFACTURING
{Common to Aeronautical Engineering)
(REGULATIONS 2007
Time : Three hours Maximum : 100 marks
1 Answer ALL questions.
» PART A — (10 x 2 = 20 marks)
1. Distinguish Aut/,omatmn, FMS and CIM.

2. Write down the advantages gained by the adoption of
CIM.

3.  Write the Opitz coding scheme used for parts
classification.

4. What is the significance of part classification and coding?

5. Mention various types of shop floor control systems(SFC).
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What are the methods used in commercial AGV sy:
to decide the path?

Distinguis!

h between network topology and ne

architecture.

List down the barriers of CIM implementation.

What is the role of Technical office protocol (TOP)?

10. Specify the advantages of relationa} database.

11.

()

(b)

®

(i)

@
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PART B — (5 x 16 = 80 marks)

Discuss the product related activities of
company.

How customer orders are processed i1
Explain.

Or

List various elements of CIM and 1
functions.

Discuss the activities under compute
manufacturing planning and manuf;

control.
: C
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How variant type CAPP differs fron
generative type CAPP, (&

Explain the features of any three proces:
planning software. (10

Or

Explain Generative Computer aided process
planning approach in detail. (8)

Enumerate the features of DCLASS and
MICLASS coding systems. (8)

Discuss various types of AS/RS and its
components. 8)

A continuous loop conveyor has a total length
of 600 m. Its speed is 120 m/min and the
spacingof part carriers along its length is 30m.
Each carrier can hold 2 parts. Robots are used
to lead and unload the conveyor at its load and
unload stations. The time required to load a
part is 0.20 min and the unload time is the
same. The required loading and unloading
rates are both 1.0 part/min.

What is the maximum possible flow rate of
parts on the conveyor system? ®)
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How many parts could be contained oy
conveyor system if every carrier were fill
its capacity?

How much time is required for the convey:
make one complete loop?

Or

Tt is desired to determine how many AGV
be required to satisfy the demand
particular AGV. The system must be capa
making 50 deliveries/hr. The folk
specifies the performance characteristics
system.

AGV velocity = 200 m/min

Average distance travel

per delivery = 500m
Pickup time = 0.5 mm
Drop-of time = 0.5 mm
Average distance

traveling empty = 250 m
Traffic factor = 090
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15.
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Determine the number of AGV's required of
satisfy the demand. Also determine the
handling system efficiency. 8)

How bar code technology plays an important
role in shop floor data collection. 8)

Describe Product data management. (8)

Discuss about various networking devices used
in LAN and WAN. )

Or

Discuss any two Internet related technologies
and the protocols used for Internet working. (8)

Draw schematic diagram of any two network
topology and write their advantages and
disadvantages. )

Discuss the technology behind data acquisition
systems. (8)

Explain the network architecture of Open
system interconnection (OSI) reference model.
8)

Or
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Explain the desirable features of a dat
management systems.

How manufacturing automation p1

(MAP) addresses the requirements of
environment?





